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Run 6102 quartetwise, Difts0: All Run 6102 quartetwise, Diffs0: Beam OFF

guartetwise diff0 quartetwise_Dbeami_difo
= - Entries 109461 1000 — Entries 15711
18000 — Mean 0.359 B Mean  0.0001653
— Std Dev 0.5066 B Std Dev 0.04178
16000 [— B
n BOO—
14000 — B
12000 — B
— 600 —
10000 — B
8000 — 400 —
6000 — B
4000 200 —
2000 — N
'D T 11 1 I 1 1 1 | | | 1 1 1 1 1 | 1 1 1 | 1 1 1 I 11 1 | 1 1 1 | | D B | | | | | | | | | | 1 1 | 1 | 1 | 1 | | | I 1 L. .l | 1
-6 —d4 -2 0 2 4 & 8 10 12 0.3 0.2 0.1 0 0.1 0.2
PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
Run 6102 quartetwise, Diffs0: Beam ON, Laser ON Run 6102 quartetwise, Diffs0: Beam ON, Laser OFF
quanebwise_beaml_las? ot quanebwise_beami_last diif
B Entries 46654 1600 — Entrias 40133
| Mean 0.7968 — Mean -0.005768
5000 — Std Dev 0.5542 [ Std Dev 0.4105
[ 1400 —
4000 [— 1200
- 1000 |
3000 — —
B BOO —
2000 — 600|—
- 400 {—
1000 — [
B 200 —
'D_"'II (A [N N T AN N T AN N NN NN SN NN SN M 'D_'"'_l NN T N T T TN T N TN T N N A A ' B
—4 -2 4 5] 8 10 12 -1.5 -1 -0.5 0 0.5 1 1.5 2

PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD



10000

8000

G000

4000

2000

5000

4000

3000

2000

1000

| ] ] | ] L L

Run 6102 quartetwise, NegHelAccO/NSamples: All
_ quartetwize_negHQ
| Entries 109461
| Mean 8.865
- Std Dev 6.58
i T
-]
_Ilrl‘Lﬂ_'H—JllilLvﬂ_‘llJA—ﬂ_lllml IIII III
0 2 4 6 8 10 12 14 16 18
MNegHelAccD/NegHelNSampleso
Run 6102 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 6102 quartetwise, Sums0: All Run 6102 quartetwise, Sums0: Beam OFF
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